TLHEAEH 25 =HEE R E R4 17 2020.11

YN 4 [D%55
- ﬁ (Z'Kki%ﬁ:/u:'zlj\m_; PN 100%)

%E&&Bcﬁaci,ﬁmhgﬁazﬁ=gmimM§ﬁFmﬁﬁ

2. REFEAMEERRIGE GBAE) R T “SRRER” MIE ==
JSYBIRRA N SRR, = RBRER SR /NP7 I LK AP, 38
RETT, BRI RS — %, EITTA— G MR TR, %3
AR, AR ARG 4B, FHMORUES S, LI <R, IF
TR FE 97 . “BR” HRIRE T px? = g, py “BE” . g
“§27 BIFEA ABCHIRRR At ARSI a, b, ¢, s? = 2 a2 — (£ 02

2

OV S D &EA ABCIIAB —15,AC = 3,BC = 2, 2ACD = 450,taMBCD_s+jﬁ,

A ABCHTHRIFAA

—.\ &S

3.7EA ABCHi, cosA=7, HaABCHia, b, cHixtMifsaAA, B, C.
(1)sksin2(B + C) + cos? 2y

(2)#a = 2v2, RRa ABCHKHIHKAE.



4. FEANATE N —FERNEER TR S, TR S Hx (A T
TN ERERY (B TR MR, St 7 10 SN AERT R 9% x5 59584
By (i =12..10)0%dE, 3280 mE s,

(DR HBEAEY = a+ bxfly = ¢ - x4 (FH ¢, d¥ AT 0RHEEOM—AE
EEVEN TG E y METTR 2 x (a3 77 #8824 AW RIRT, AN ah 1

HIEEHT);

Q)XHEEIE i FAEE, A = Inxg, v, = Iny;, BEMESGHHEMEDR: B

PR O IR W a2k SR 8, SRy KT x iR 5 R

10 10 10 10
D Du o |Dlw—ww-n| (-0
i=1 i=1 i=1 i=1

15 15 28.25 56.5

@) AR TII7E)5 X,y 1% RNz = 18e 74y — 2x (LT

e ~ 2.71828), MR (2) W I AW, ZAEGZ AL T —FEHFERIE R, Fiir
NN L DR B ?

B e XF 21 (ug, v1)s (U, 12)s s (Up, V) ﬁlﬁlﬂﬂﬁéﬁ;:&_,_[;uﬂ’ﬂ%ﬂr%

FRBE BN — Tl 9 g = My,

ML Gw? | @SV AW

FHER W ThHH
10
8
6 e ¢ 7
[ 3
4L, *
2
DIIIIIIIIIIIIII.;_
2 4 68 10121416 18202224 26 28 30

it &Ry T h




